
Write with positive exponents

1

2ିଷ
⎯⎯⎯ =

1

3ିସ
⎯⎯⎯ =

2ିଷ =
1

2ଷ
⎯⎯

5ିଶ = 

3ିସ =

9ିଶ = 

2𝑥ିଶ =

2ିଷ𝑥 =

2ିଷ𝑥ିଶ =

1

2𝑥ିଶ
⎯⎯⎯⎯⎯=

1

2ିଷ𝑥
⎯⎯⎯⎯⎯=

1

2ିଷ𝑥ିଶ
⎯⎯⎯⎯⎯⎯⎯=

5

2𝑦ିଷ
⎯⎯⎯⎯⎯=

5

3ିଶ𝑦ିଷ
⎯⎯⎯⎯⎯⎯⎯=

4

(2𝑥)ିଶ
⎯⎯⎯⎯⎯⎯ =

Write with negative exponents

𝑥ଶ

𝑦ିଷ
⎯⎯⎯ =

𝑥ିଶ

𝑦ିଷ
⎯⎯⎯ =

𝑎ିଶ

(2𝑦)ିସ
⎯⎯⎯⎯⎯⎯

2ଷ =
1

2ଷ
⎯⎯ =

1

2𝑥ଷ
⎯⎯⎯ =

2

𝑥ଷ
⎯⎯⎯=

6ିଶ = 

3ିଷ = 

1

7ିଶ
⎯⎯⎯ =

1

8ିହ
⎯⎯⎯ =

1

4ିଵ
⎯⎯⎯ =

1

6ିଽ
⎯⎯⎯ =

2ିଷ = 0.125 =
1

2ଷ
⎯⎯

Check Answer
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Write with Negative exponents

9ଶ

9ଷ
⎯⎯ =

7

7ଶ
⎯⎯ =

5ସ ÷ 5ହ =

2ଶ ÷ 2ହ =

Write with Positive exponents

6ଶ

6ସ
⎯⎯ =

7

7ଶ
⎯⎯ =

9ଶ

9ଷ
⎯⎯ =

7

7ଶ
⎯⎯ =

5ସ ÷ 5ହ =

2ଶ ÷ 2ହ =

6ଶ

6ସ
⎯⎯ =

7

7ଶ
⎯⎯ =

6ଶ

6ିଵ
⎯⎯⎯ =

4

4ଶ
⎯⎯ =

8ଷ ÷ 8ିସ =

7ିଶ ÷ 7ିହ =

5ିଷ

5ଶ
⎯⎯⎯ =

9ିସ

9ିଷ
⎯⎯⎯ =

Write with Positive exponents

Write with Positive exponents

2𝑥ିଶ

𝑦ିସ
⎯⎯⎯⎯⎯=

4𝑎ିଷ

𝑏ିସ
⎯⎯⎯⎯⎯=

5𝑥ଶ

𝑦ିସ
⎯⎯⎯ =

𝑎ିଶ

5𝑏ିହ
⎯⎯⎯⎯⎯=

5𝑥ିଶ

2𝑦ସ
⎯⎯⎯⎯⎯=

(6𝑎)ିଶ

𝑏ହ
⎯⎯⎯⎯⎯⎯ =

Write with Positive exponents

൬
2

3
⎯⎯൰

ିଶ

=
൬

5

7
⎯⎯൰

ିସ

= ൬
1

2
⎯⎯൰

ିଷ

=
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64ିଵ =

243ିଶ =

25ିଶ =

4ିଷ =

Change to positive exponents with lowest base.

 8ିଶ=

   
1

8ଶ
⎯⎯

1

(2ଷ)ଶ
⎯⎯⎯⎯⎯

  
1

2଺
⎯⎯

  8ିଶ =
(2ଷ)ିଶ

  2ି଺  

  
ଵ

ଶల⎯⎯OR

27ିଶ =

16ିଷ =

8ିଶ = 0.015625 =
1

2଺
⎯⎯ Check Answer

Write with Positive Exponents

Change of Base

Multiply Exponents

Change of Base
Multiply Exponents

Write with Positive Exponents

1

2
⎯⎯=

1

2ଵ
⎯⎯

2ିଵ

1

81
⎯⎯⎯=

1

3ସ
⎯⎯

3ିସ

Change of Base
Multiply Exponents

Write with Positive Exponents

1

2ଵ
⎯⎯ = 2ିଵ

1

9
⎯⎯=

1

3ଶ
⎯⎯ = 3ିଶ

Change of Base
Negative Laws
Multiply Exponents

Write with Positive Exponents

Negative Laws

Change to positive exponents with lowest base.

Change to negative exponents with lowest base.

൬
1

25
⎯⎯⎯൰

ଶ

=

൬
1

5ଶ
⎯⎯൰

ଶ

(5ିଶ)ଶ

  5ିସ

൬
1

25
⎯⎯⎯൰

ଶ

=

1ଶ

25ଶ
⎯⎯⎯

1

(5ଶ)ଶ
⎯⎯⎯⎯⎯

1

5ସ
⎯⎯

5ିସ

ORChange of Base
Negative Laws
Multiply Exponents

Multiply Exponents

Change of Base
Multiply Exponents Again
Negative Laws

Change to negative exponents with lowest base.

൬
1

9
⎯⎯൰

ଷ

= ൬
4

9
⎯⎯൰

ିଷ

൬
1

2
⎯⎯൰

ିସ

=
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